5% S 518 F i 1

4VR5!

BSRTHE

O mEtes

V| 203158

@ #wIrE

@ ®
— |06 AC110V
= 1
oEnEE © WwERE
M5 M5x0.8
= .o DC12V
06 Rc1/8
= . DC24V
08 Rc1/4 T —
— AC24V 50/60Hz
10 Rc3/8 U —
YT AC110V 50/60Hz
15 Rc1/2

AC220V 50/60Hz

1 100
2 | 200 ® R
3 | 300 10 $2EX&1L\I§T¥E€
2 | 400 20 | WERUERHF
30C| Wk=fE+
30E| WA=fEHSH
30P| WA=MEEHTS
10S| BB HET
20S| WELWMAIE Bkt
Mg
FEEFRYIRAAR =5
SEREEE 0.15~0.8MPa
ifit & 1.2MPa
IERFTNERE 5~60°C
BETE -10%~+10%
RIPER P65
[EE32 B
R BT
R %
=T ENDTES 5Hz
Y
4V110-06 4V210-08
0.7—— 0.7 —
—T ] —]
0.6——— 0.6 =
—_| —
= 05 ——— — 05 I
Eg 0.4 - é [
= U — 2 04 —
— —
R R
t 03 \\ p 03 \\
[ 0
ii 0.2 — \ \ % 0.2 = \ \ \
0.1 =~ 0.1
. N L] NANERNEN
0 100 200 300 400 500 600 700 800 900 1000 0 200 400 600 800 1000 1200 1400 1600 1800
FRE (L/min) FRE (L/min)
4V310-10 4V410-15
07 [T T ] 0.7 —T
1 0.6 1
o —— 0.5 —
. 05 T —~ T
S T 04 S—
S o4 —1| s —
R 03 — R . —
el ™ \ Hoo02
%ﬂ} 0.2 ] \ \ %:)[ o y
o R | 0 NWRIANANAN)
0 400 800 1200 1600 2000 2400 0 500 1000 1500 2000 25003000 3500 4000

FE (L/min)

FRE (L/min)

B-143

. AEMENN | BWHENND | SMEREE | S
BRI | Tw S | mwann | essipn |DRSESHIR e s

(2 3

5
o
=
]
(5

B 5

=
=

Faedndi B

e

]



AVEG ssssmanm

R~
N
|
|
I I x
§ _ T L
y (ImIn| g [ |
® S m®/
V7 hg
|
7% [
o1 11l
o ; o - N
@x & y
> s e -
- 5 -
2 ||| =)
Tyl —) ]
F BeN P
H Q
BE A| B ©] D E F G H | J K L M N (0] P Q R S T U Vv
4VA10-M5  [13.2] 30 | 14 | 21.2| M5x0.8 | 0 | ©3.3 | 27 | @33 | 14 | 25| 99.4 | 212 | 55 |9.5| 13 |18| M5x0.8 | 14.7 | 27 | 282 | 0
4V110-06 |13.2| 30 | 16 | 202] Rc1/8 | 3 | @33 | 27 | @33 |14 | 25| 99.4 | 212 55 |95] 13 [18] Rc1/8 | 142 | 28 | 282 1
4\V210-06 12.7) 38 | 18 | 22.7| Rc1/8 0 |@32] 35 @43 1 20| 3 117 | 21.7 | 66.7 [10.5] 17 |22 Rc1/8 13.7 36 | 31.7 0
4V210-08 12.7| 38 | 21 | 21.2| Rc1/4 3 | @32 35 @43 1 20| 3 117 | 21.7 | 66.7 [10.5] 17 |22 Rc1/8 13.7 36 | 31.7 0
4V310-08 15| 50 | 22 29 Rc1/4 0 | @43 | 40 @43 | 24 | 2.4 | 135 28 69.2 |13.5| 20 |27 Rc1/4 175 | 45 40 0
4V310-10 15|50 | 24 28 Rc3/8 4 | @43 | 40 @43 | 24 | 2.4 | 135 28 69.2 |13.5| 20 |27 Rc1/4 175 | 45 40 0
4V410-15 21| 72| 36 39 Rc1/2 4 | @43 | 50 @55 | 28 | 2.8 |168.4| 43 74.2 |17.5| 27 |34 Rc1/2 | 255 63 57 0
N
M HIN AL
®
v
) N
o S : 1
o IS e -L'S [T !
o~ = @
@ ‘
@777 7\%} I
o } O o - - T
@\,7, & }
— @
e 1= ;
Al
[T KR i l@[ S
o = %]
<
|
® |
L 1 + (O e
4 MO+
I | p
N
Q
fidk=1 A|lB|C D E G H | d K L M N (0] P | Q R S T U

4\V120-M5 |56.2| 30 | 14 | 64.3| M5x0.8 @33| 27 | @33 | 14|25 (1424|642 | 55 | 95 | 13 |18| M5x0.8 | 57.7 | 27 | 71.2

4V120-06 |56.2| 30 | 16 | 63.2| Rc1/8 @3.3| 27 | @33 | 14|25 |1424| 642 | 55 | 95 | 13 (18| Rc1/8 | 57.2 | 28 | 712

4V220-06 |66.4| 38 | 18 | 76.4| Rc1/8 @32| 35 | @43 | 20| 3 171 | 754 | 66.7 | 10.5 | 17 |22| Rc1/8 | 67.4 | 36 | 85.4

4V220-08 |66.4| 38 | 21 | 74.9| Rc1/4 @3.2| 35 | @43 | 20| 3 | 171 | 754 | 66.7 |10.5| 17 |22| Rc1/8 | 67.4 | 36 | 85.4

4V320-08 |69.9| 50 | 22 | 83.9| Rc1/4 @43 | 40 | @43 | 24|24 | 190 | 82.9 | 69.2 |13.5| 20 (27| Rc1/4 | 724 | 45 | 949

4V320-10 [69.9] 50 | 24 | 82.9| Rc3/8 @43 40 | @43 | 24| 24| 190 | 82.9 | 69.2 |13.5| 20 |27 | Rc1/4 | 724 | 45 | 94.9

AP |O|lW|O|lwWw | Ol ™M

4V420-15 |75.4| 72 | 36 | 93.4| Rc1/2 @4.3| 50 | @55 | 28|28 |222.8| 974|742 |175| 27 |34| Rc1/2 | 79.9 | 63 | 1114

o|lojlo|o|lo|~|ol<

B-144



e |l i
e 24 S

sostsmann 4VER Y

o b 24 i iR HH it

|
E
.
=
|
Eﬂv o
|
24508 HERE K
B2 B 25 Ohmt

RS
B8 Bk Kot

J
T

[anY

\¥

S
Pamadl-
]
.
|
3

)

2-R

3-E
2-2G
2-1
<
HE RS
S ER Hhimt

K
=
I

@
i W Hhmt

2= A[B|C|D| E

(2 3

4V130-M5 |56.2| 30 | 14 |64.3| M5x0.8 @33 | 27 | @33 |14 |25 |157.4| 642 | 55 |95| 13 |18| Mb5x0.8 | 657.7 | 27 | 71.2

4V130-06 56.2| 30 | 16 [63.2| Rc1/8 @33 | 27 | @33 | 14|25 |1574| 642 | 55 |95| 13 [18| Rc1/8 | 57.2 | 28 | 71.2

4V230-06 66.4| 38 | 18 |76.4| Rc1/8 @32 | 35 | @43 | 20| 3 | 190 | 75.4 | 66.7 [10.5| 17 [22| Rc1/8 | 67.4 | 36 | 85.4

4V230-08 66.4| 38 | 21 |74.9] Rc1/4 @32 | 35 | @43 |20 | 3 190 | 75.4 | 66.7 |[10.5| 17 |22| Rc1/8 | 67.4 | 36 | 85.4

4V330-08 69.9] 50 | 22 |83.9| Rc1/4 @43 | 40 | @43 | 24| 24| 209 | 829 | 69.2 {13.5 20 (27| Rc1/4 | 724 | 45 | 94.9

4V330-10 69.9] 50 | 24 |82.9| Rc3/8 @43 | 40 | @43 | 24| 24| 209 | 82.9 | 69.2 |13.5 20 (27| Rc1/4 | 724 | 45 | 94.9

Al |lOlWwWO|lW|OlTM
olojlo|lo|lo|~|O|<

4V430-15 75.4| 72 | 36 |93.4| Rc1/2 @43 | 50 | @55 | 28 | 2.8 |243.8| 97.4 | 74.2 |[17.5 27 [34| Rc1/2 | 799 | 63 |111.4

5
o
5
]
(5

B 5

IE

L

fel

=
il
(&}

e

]

B-145




